@S Crea

quatro fragdes, decimais, ordem das operacdes

Nome:

1
4,6+§><3—15><3,8+5=

11
£ T3 X4+6x5,1+2=

[\

1
3 44+5%53=

5,6 -10x3,7+5=-3x2,4=

Encontro: Data: Pontuagao:

N —

2,4+ > —3x

2
63 +2-2x2,5=

1 1
54+ 15x = +3-2x%x - =
’ 2 -

2
2,3+55-4% 2=
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@S Crea

quatro fragdes, decimais, ordem das operacdes

Nome:

1 53 3
4,6+ - x3-15%x3,8+5=(——)=(5—

11 202 7
L4+ lep= 230
g 3 (Arexs, 5 73
1 1 6 7
—+3,5-2x-=_—=3—

2 2775750 7%

1 673 13

S 44+ e

3 HAFTIxS3= 5 30

5,6-10%x3,7+5-3x2,4=(-9)

Encontro: Data: Pontuagao:
3 1
2’4+__3><1:§: _3
4 6 0 20

3 2 25 1
Z—6xZ+2-2x2,5=(-")=(-6-

| —

—+2,7—4x
6 b

[S—
W[ N

1 1 37 2

44+ 15x —=+3-2x—=_—"—="7—

% > 2 3 4 5 75
31 1
2,3+5,5_4X—:§-:6—
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